soham@modiproperties.com

From:

"Nagalaxmi M" <nagalaxmi@modiproperties.com>

Date:

8 June, 2013 10:57 AM

To:

<soham@modiproperties.com>

Subject:

Advance for ner bungalows at MNM site

Respected Sir,

1. P.Hari

Rs.1,57,518/- (excess payment)

2. P.Ganesh

- Rs.1,65,195/- (excess payment)

3. N.Ganesh

- Rs. 2,30,803/- (excess payment)

Sir, all the above three contractors are having excess payment at MNM site, again today advance payment vouchers came for new bungalows 19 & 17 for P.Hari & P.Ganesh. sir, kindly advice.

Regards,

Nagalaxmi

---- Forwarded Message -----

From: Soham Modi <soham@modiproperties.com>

To: mnm@modiproperties.com; mnmaccounts@modiproperties.com; nagalaxmi@modiproperties.com

Sent: Wednesday, June 5, 2013 7:09 PM

Subject: Fwd:

Rajalaxmi,

Pay after confirmation by nagalaxni.

Soham

Soham Modi

----- Original message -----

Subject:

From:MNM <mnm@modiproperties.com>

To:Soham Modi <soham@modiproperties.com>

Cc:mnmaccounts@modiproperties.com

Dear sir,

This is to intimate that stage-IV works are completed for the following bunglows.

1. N.Ganesh B.No-15 -100% work completed = 1753*7=12,271.

P.Ganesh B.No-74 - 80% work completed = 1461*7 =10,227= 8,181 (80%).

3. P.Hari B.No - 75 -70 % work completed =1461*7= 10,227= 7,158 (70%).

soham@modiproperties.com

From:

Date:

To: Cc: "MNM" <mnm@modiproperties.com>
5 June, 2013 9:58 AM
"Soham Modi" <soham@modiproperties.com> "yadagiri" <yadagiri@modiproperties.com>

Subject:

STage-4 payment releasing

Dear sir,

Civil contracters(P. Hari, P. Ganesh N. Ganesh) not doing the work frome last three days at MNM site due to BNo 74, 75, 15 stage-4 payment not given to them. Please release the payment.

Regards,

K. Yadagiri MNM

soham@modiproperties.com

"MNM" <mnm@modiproperties.com>

Date: 4 June, 2013 1:59 PM To:

"Soham Modi" <soham@modiproperties.com>

Cc: <mnmaccounts@modiproperties.com>

Dear sir,

From:

This is to intimate that stage-IV works are completed for the following bunglows.

MOAT

1. N.Ganesh B.No-15 -100% work completed = 1753*7=12,271.

2. P.Ganesh B.No-74 - 80% work completed = 1461*7 =10,227= 8,181 (80%).

3. P.Hari B.No - 75 -70 % work completed =1461*7= 10,227= 7,158 (70%).

Please release the above amounts to the respestive contractors.

regards, K.Yadagiri

Soham Modi

Date: 8 January, 2013 11:23 AM

To: "Sohammodi" <sohammodi@hotmail.com>

Attach: 102_7843.JPG; 102_7839.JPG; 102_7840.JPG; 102_7841.JPG; 102_7842.JPG

Subject: Report on MNM site -Reg

Sir,

This is to inform you that, MNM site HDPE pipe lines leakage work is completed, now they are providing drinking water to customers thought pipe lines.

Please find enclosed photographs of completed work at MNM site.

Regards,

Praveen.